
[temporal_consistency]
time_step = 1
time_granularity = month

[temporal_consistency_result]
res = err
msg = Temporal inconsistency found. Check log messages in the following pages



test05-temporal_consistency:ERROR:2019-12-11 10:48:46,500:Temporal inconsistency [t0=2019-04-01 00:00:00 - t1=2019-04-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:48:47,157:Temporal inconsistency [t0=2019-05-01 00:00:00 - t1=2019-05-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:48:47,800:Temporal inconsistency [t0=2019-06-01 00:00:00 - t1=2019-06-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:48:48,361:Temporal inconsistency [t0=2019-07-01 00:00:00 - t1=2019-07-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:48:48,843:Temporal inconsistency [t0=2019-08-01 00:00:00 - t1=2019-08-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:48:49,414:Temporal inconsistency [t0=2019-09-01 00:00:00 - t1=2019-09-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:48:49,962:Temporal inconsistency [t0=2019-10-01 00:00:00 - t1=2019-10-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:48:50,658:Temporal inconsistency [t0=2019-11-01 00:00:00 - t1=2019-11-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:48:51,204:Temporal inconsistency [t0=2019-12-01 00:00:00 - t1=2019-12-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:48:51,900:Temporal inconsistency [t0=2020-01-01 00:00:00 - t1=2020-01-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:48:52,473:Temporal inconsistency [t0=2020-02-01 00:00:00 - t1=2020-02-29 00:00:00] = 2419200.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:48:52,847:Temporal inconsistency [t0=1993-06-01 00:00:00 - t1=1993-06-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:48:53,349:Temporal inconsistency [t0=1993-07-01 00:00:00 - t1=1993-07-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:48:53,792:Temporal inconsistency [t0=1993-08-01 00:00:00 - t1=1993-08-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:48:54,172:Temporal inconsistency [t0=1993-09-01 00:00:00 - t1=1993-09-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:48:54,520:Temporal inconsistency [t0=1993-10-01 00:00:00 - t1=1993-10-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:48:54,967:Temporal inconsistency [t0=1993-11-01 00:00:00 - t1=1993-11-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:48:55,259:Temporal inconsistency [t0=1993-12-01 00:00:00 - t1=1993-12-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:48:55,808:Temporal inconsistency [t0=1994-01-01 00:00:00 - t1=1994-01-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:48:56,274:Temporal inconsistency [t0=1994-02-01 00:00:00 - t1=1994-02-28 00:00:00] = 2332800.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:48:56,575:Temporal inconsistency [t0=1994-03-01 00:00:00 - t1=1994-03-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:48:56,960:Temporal inconsistency [t0=1994-04-01 00:00:00 - t1=1994-04-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:48:57,513:Temporal inconsistency [t0=1994-05-01 00:00:00 - t1=1994-05-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:48:57,857:Temporal inconsistency [t0=1994-06-01 00:00:00 - t1=1994-06-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:48:58,184:Temporal inconsistency [t0=1994-07-01 00:00:00 - t1=1994-07-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:48:58,512:Temporal inconsistency [t0=1994-08-01 00:00:00 - t1=1994-08-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:48:58,859:Temporal inconsistency [t0=1994-09-01 00:00:00 - t1=1994-09-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:48:59,193:Temporal inconsistency [t0=1994-10-01 00:00:00 - t1=1994-10-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:48:59,741:Temporal inconsistency [t0=1994-11-01 00:00:00 - t1=1994-11-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:00,268:Temporal inconsistency [t0=1994-12-01 00:00:00 - t1=1994-12-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:00,624:Temporal inconsistency [t0=1995-01-01 00:00:00 - t1=1995-01-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:01,085:Temporal inconsistency [t0=1995-02-01 00:00:00 - t1=1995-02-28 00:00:00] = 2332800.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:01,511:Temporal inconsistency [t0=1995-03-01 00:00:00 - t1=1995-03-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:01,912:Temporal inconsistency [t0=1995-04-01 00:00:00 - t1=1995-04-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:02,283:Temporal inconsistency [t0=1995-05-01 00:00:00 - t1=1995-05-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:02,762:Temporal inconsistency [t0=1995-06-01 00:00:00 - t1=1995-06-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:03,417:Temporal inconsistency [t0=1995-07-01 00:00:00 - t1=1995-07-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:03,848:Temporal inconsistency [t0=1995-08-01 00:00:00 - t1=1995-08-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:04,367:Temporal inconsistency [t0=1995-09-01 00:00:00 - t1=1995-09-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:04,716:Temporal inconsistency [t0=1995-10-01 00:00:00 - t1=1995-10-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:05,184:Temporal inconsistency [t0=1995-11-01 00:00:00 - t1=1995-11-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:05,553:Temporal inconsistency [t0=1995-12-01 00:00:00 - t1=1995-12-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:05,877:Temporal inconsistency [t0=1996-01-01 00:00:00 - t1=1996-01-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:06,349:Temporal inconsistency [t0=1996-02-01 00:00:00 - t1=1996-02-29 00:00:00] = 2419200.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:06,682:Temporal inconsistency [t0=1996-03-01 00:00:00 - t1=1996-03-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:07,142:Temporal inconsistency [t0=1996-04-01 00:00:00 - t1=1996-04-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:07,504:Temporal inconsistency [t0=1996-05-01 00:00:00 - t1=1996-05-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:07,885:Temporal inconsistency [t0=1996-06-01 00:00:00 - t1=1996-06-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:08,345:Temporal inconsistency [t0=1996-07-01 00:00:00 - t1=1996-07-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:08,666:Temporal inconsistency [t0=1996-08-01 00:00:00 - t1=1996-08-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:09,040:Temporal inconsistency [t0=1996-09-01 00:00:00 - t1=1996-09-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:09,463:Temporal inconsistency [t0=1996-10-01 00:00:00 - t1=1996-10-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:09,866:Temporal inconsistency [t0=1996-11-01 00:00:00 - t1=1996-11-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:10,184:Temporal inconsistency [t0=1996-12-01 00:00:00 - t1=1996-12-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:10,549:Temporal inconsistency [t0=1997-01-01 00:00:00 - t1=1997-01-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:10,990:Temporal inconsistency [t0=1997-02-01 00:00:00 - t1=1997-02-28 00:00:00] = 2332800.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:11,394:Temporal inconsistency [t0=1997-03-01 00:00:00 - t1=1997-03-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:11,933:Temporal inconsistency [t0=1997-04-01 00:00:00 - t1=1997-04-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:12,307:Temporal inconsistency [t0=1997-05-01 00:00:00 - t1=1997-05-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:12,533:Temporal inconsistency [t0=1997-06-01 00:00:00 - t1=1997-06-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:12,858:Temporal inconsistency [t0=1997-07-01 00:00:00 - t1=1997-07-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:12,983:Temporal inconsistency [t0=1997-08-01 00:00:00 - t1=1997-08-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:13,091:Temporal inconsistency [t0=1997-09-01 00:00:00 - t1=1997-09-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:13,198:Temporal inconsistency [t0=1997-10-01 00:00:00 - t1=1997-10-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:13,303:Temporal inconsistency [t0=1997-11-01 00:00:00 - t1=1997-11-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:13,452:Temporal inconsistency [t0=1997-12-01 00:00:00 - t1=1997-12-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:13,602:Temporal inconsistency [t0=1998-01-01 00:00:00 - t1=1998-01-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:13,716:Temporal inconsistency [t0=1998-02-01 00:00:00 - t1=1998-02-28 00:00:00] = 2332800.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:13,829:Temporal inconsistency [t0=1998-03-01 00:00:00 - t1=1998-03-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:13,941:Temporal inconsistency [t0=1998-04-01 00:00:00 - t1=1998-04-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:14,120:Temporal inconsistency [t0=1998-05-01 00:00:00 - t1=1998-05-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:14,247:Temporal inconsistency [t0=1998-06-01 00:00:00 - t1=1998-06-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:14,351:Temporal inconsistency [t0=1998-07-01 00:00:00 - t1=1998-07-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:14,462:Temporal inconsistency [t0=1998-08-01 00:00:00 - t1=1998-08-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:14,570:Temporal inconsistency [t0=1998-09-01 00:00:00 - t1=1998-09-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:14,692:Temporal inconsistency [t0=1998-10-01 00:00:00 - t1=1998-10-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:14,804:Temporal inconsistency [t0=1998-11-01 00:00:00 - t1=1998-11-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:14,911:Temporal inconsistency [t0=1998-12-01 00:00:00 - t1=1998-12-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:15,015:Temporal inconsistency [t0=1999-01-01 00:00:00 - t1=1999-01-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:15,116:Temporal inconsistency [t0=1999-02-01 00:00:00 - t1=1999-02-28 00:00:00] = 2332800.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:15,208:Temporal inconsistency [t0=1999-03-01 00:00:00 - t1=1999-03-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:15,354:Temporal inconsistency [t0=1999-04-01 00:00:00 - t1=1999-04-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:15,450:Temporal inconsistency [t0=1999-05-01 00:00:00 - t1=1999-05-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:15,563:Temporal inconsistency [t0=1999-06-01 00:00:00 - t1=1999-06-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:15,659:Temporal inconsistency [t0=1999-07-01 00:00:00 - t1=1999-07-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:15,758:Temporal inconsistency [t0=1999-08-01 00:00:00 - t1=1999-08-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:15,858:Temporal inconsistency [t0=1999-09-01 00:00:00 - t1=1999-09-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:15,954:Temporal inconsistency [t0=1999-10-01 00:00:00 - t1=1999-10-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:16,052:Temporal inconsistency [t0=1999-11-01 00:00:00 - t1=1999-11-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:16,153:Temporal inconsistency [t0=1999-12-01 00:00:00 - t1=1999-12-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:16,265:Temporal inconsistency [t0=2000-01-01 00:00:00 - t1=2000-01-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:16,370:Temporal inconsistency [t0=2000-02-01 00:00:00 - t1=2000-02-29 00:00:00] = 2419200.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:16,480:Temporal inconsistency [t0=2000-03-01 00:00:00 - t1=2000-03-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:16,586:Temporal inconsistency [t0=2000-04-01 00:00:00 - t1=2000-04-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:16,693:Temporal inconsistency [t0=2000-05-01 00:00:00 - t1=2000-05-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:16,809:Temporal inconsistency [t0=2000-06-01 00:00:00 - t1=2000-06-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:16,934:Temporal inconsistency [t0=2000-07-01 00:00:00 - t1=2000-07-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:17,035:Temporal inconsistency [t0=2000-08-01 00:00:00 - t1=2000-08-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:17,148:Temporal inconsistency [t0=2000-09-01 00:00:00 - t1=2000-09-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:17,250:Temporal inconsistency [t0=2000-10-01 00:00:00 - t1=2000-10-31 00:00:00] = 2592000.0 sec



test05-temporal_consistency:ERROR:2019-12-11 10:49:17,442:Temporal inconsistency [t0=2000-12-01 00:00:00 - t1=2000-12-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:17,559:Temporal inconsistency [t0=2001-01-01 00:00:00 - t1=2001-01-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:17,715:Temporal inconsistency [t0=2001-02-01 00:00:00 - t1=2001-02-28 00:00:00] = 2332800.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:17,854:Temporal inconsistency [t0=2001-03-01 00:00:00 - t1=2001-03-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:17,950:Temporal inconsistency [t0=2001-04-01 00:00:00 - t1=2001-04-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:18,053:Temporal inconsistency [t0=2001-05-01 00:00:00 - t1=2001-05-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:18,174:Temporal inconsistency [t0=2001-06-01 00:00:00 - t1=2001-06-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:18,278:Temporal inconsistency [t0=2001-07-01 00:00:00 - t1=2001-07-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:18,382:Temporal inconsistency [t0=2001-08-01 00:00:00 - t1=2001-08-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:18,491:Temporal inconsistency [t0=2001-09-01 00:00:00 - t1=2001-09-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:18,603:Temporal inconsistency [t0=2001-10-01 00:00:00 - t1=2001-10-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:18,710:Temporal inconsistency [t0=2001-11-01 00:00:00 - t1=2001-11-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:18,827:Temporal inconsistency [t0=2001-12-01 00:00:00 - t1=2001-12-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:18,926:Temporal inconsistency [t0=2002-01-01 00:00:00 - t1=2002-01-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:19,060:Temporal inconsistency [t0=2002-02-01 00:00:00 - t1=2002-02-28 00:00:00] = 2332800.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:19,166:Temporal inconsistency [t0=2002-03-01 00:00:00 - t1=2002-03-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:19,269:Temporal inconsistency [t0=2002-04-01 00:00:00 - t1=2002-04-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:19,370:Temporal inconsistency [t0=2002-05-01 00:00:00 - t1=2002-05-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:19,505:Temporal inconsistency [t0=2002-06-01 00:00:00 - t1=2002-06-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:19,605:Temporal inconsistency [t0=2002-07-01 00:00:00 - t1=2002-07-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:19,719:Temporal inconsistency [t0=2002-08-01 00:00:00 - t1=2002-08-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:19,826:Temporal inconsistency [t0=2002-09-01 00:00:00 - t1=2002-09-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:19,926:Temporal inconsistency [t0=2002-10-01 00:00:00 - t1=2002-10-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:20,043:Temporal inconsistency [t0=2002-11-01 00:00:00 - t1=2002-11-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:20,149:Temporal inconsistency [t0=2002-12-01 00:00:00 - t1=2002-12-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:20,276:Temporal inconsistency [t0=2003-01-01 00:00:00 - t1=2003-01-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:20,386:Temporal inconsistency [t0=2003-02-01 00:00:00 - t1=2003-02-28 00:00:00] = 2332800.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:20,506:Temporal inconsistency [t0=2003-03-01 00:00:00 - t1=2003-03-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:20,665:Temporal inconsistency [t0=2003-04-01 00:00:00 - t1=2003-04-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:20,765:Temporal inconsistency [t0=2003-05-01 00:00:00 - t1=2003-05-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:20,866:Temporal inconsistency [t0=2003-06-01 00:00:00 - t1=2003-06-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:21,001:Temporal inconsistency [t0=2003-07-01 00:00:00 - t1=2003-07-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:21,110:Temporal inconsistency [t0=2003-08-01 00:00:00 - t1=2003-08-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:21,234:Temporal inconsistency [t0=2003-09-01 00:00:00 - t1=2003-09-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:21,360:Temporal inconsistency [t0=2003-10-01 00:00:00 - t1=2003-10-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:21,505:Temporal inconsistency [t0=2003-11-01 00:00:00 - t1=2003-11-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:21,610:Temporal inconsistency [t0=2003-12-01 00:00:00 - t1=2003-12-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:21,734:Temporal inconsistency [t0=2004-01-01 00:00:00 - t1=2004-01-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:21,838:Temporal inconsistency [t0=2004-02-01 00:00:00 - t1=2004-02-29 00:00:00] = 2419200.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:21,967:Temporal inconsistency [t0=2004-03-01 00:00:00 - t1=2004-03-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:22,085:Temporal inconsistency [t0=2004-04-01 00:00:00 - t1=2004-04-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:22,247:Temporal inconsistency [t0=2004-05-01 00:00:00 - t1=2004-05-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:22,374:Temporal inconsistency [t0=2004-06-01 00:00:00 - t1=2004-06-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:22,485:Temporal inconsistency [t0=2004-07-01 00:00:00 - t1=2004-07-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:22,587:Temporal inconsistency [t0=2004-08-01 00:00:00 - t1=2004-08-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:22,695:Temporal inconsistency [t0=2004-09-01 00:00:00 - t1=2004-09-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:22,798:Temporal inconsistency [t0=2004-10-01 00:00:00 - t1=2004-10-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:22,967:Temporal inconsistency [t0=2004-11-01 00:00:00 - t1=2004-11-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:23,068:Temporal inconsistency [t0=2004-12-01 00:00:00 - t1=2004-12-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:23,181:Temporal inconsistency [t0=2005-01-01 00:00:00 - t1=2005-01-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:23,276:Temporal inconsistency [t0=2005-02-01 00:00:00 - t1=2005-02-28 00:00:00] = 2332800.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:23,385:Temporal inconsistency [t0=2005-03-01 00:00:00 - t1=2005-03-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:23,480:Temporal inconsistency [t0=2005-04-01 00:00:00 - t1=2005-04-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:23,578:Temporal inconsistency [t0=2005-05-01 00:00:00 - t1=2005-05-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:23,682:Temporal inconsistency [t0=2005-06-01 00:00:00 - t1=2005-06-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:23,785:Temporal inconsistency [t0=2005-07-01 00:00:00 - t1=2005-07-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:23,898:Temporal inconsistency [t0=2005-08-01 00:00:00 - t1=2005-08-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:23,994:Temporal inconsistency [t0=2005-09-01 00:00:00 - t1=2005-09-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:24,095:Temporal inconsistency [t0=2005-10-01 00:00:00 - t1=2005-10-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:24,251:Temporal inconsistency [t0=2005-11-01 00:00:00 - t1=2005-11-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:24,363:Temporal inconsistency [t0=2005-12-01 00:00:00 - t1=2005-12-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:24,469:Temporal inconsistency [t0=2006-01-01 00:00:00 - t1=2006-01-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:24,635:Temporal inconsistency [t0=2006-02-01 00:00:00 - t1=2006-02-28 00:00:00] = 2332800.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:24,767:Temporal inconsistency [t0=2006-03-01 00:00:00 - t1=2006-03-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:24,869:Temporal inconsistency [t0=2006-04-01 00:00:00 - t1=2006-04-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:24,980:Temporal inconsistency [t0=2006-05-01 00:00:00 - t1=2006-05-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:25,082:Temporal inconsistency [t0=2006-06-01 00:00:00 - t1=2006-06-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:25,197:Temporal inconsistency [t0=2006-07-01 00:00:00 - t1=2006-07-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:25,298:Temporal inconsistency [t0=2006-08-01 00:00:00 - t1=2006-08-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:25,413:Temporal inconsistency [t0=2006-09-01 00:00:00 - t1=2006-09-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:25,527:Temporal inconsistency [t0=2006-10-01 00:00:00 - t1=2006-10-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:25,633:Temporal inconsistency [t0=2006-11-01 00:00:00 - t1=2006-11-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:25,791:Temporal inconsistency [t0=2006-12-01 00:00:00 - t1=2006-12-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:25,909:Temporal inconsistency [t0=2007-01-01 00:00:00 - t1=2007-01-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:26,027:Temporal inconsistency [t0=2007-02-01 00:00:00 - t1=2007-02-28 00:00:00] = 2332800.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:26,132:Temporal inconsistency [t0=2007-03-01 00:00:00 - t1=2007-03-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:26,239:Temporal inconsistency [t0=2007-04-01 00:00:00 - t1=2007-04-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:26,331:Temporal inconsistency [t0=2007-05-01 00:00:00 - t1=2007-05-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:26,437:Temporal inconsistency [t0=2007-06-01 00:00:00 - t1=2007-06-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:26,568:Temporal inconsistency [t0=2007-07-01 00:00:00 - t1=2007-07-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:26,667:Temporal inconsistency [t0=2007-08-01 00:00:00 - t1=2007-08-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:26,765:Temporal inconsistency [t0=2007-09-01 00:00:00 - t1=2007-09-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:26,864:Temporal inconsistency [t0=2007-10-01 00:00:00 - t1=2007-10-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:27,033:Temporal inconsistency [t0=2007-11-01 00:00:00 - t1=2007-11-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:27,154:Temporal inconsistency [t0=2007-12-01 00:00:00 - t1=2007-12-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:27,255:Temporal inconsistency [t0=2008-01-01 00:00:00 - t1=2008-01-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:27,399:Temporal inconsistency [t0=2008-02-01 00:00:00 - t1=2008-02-29 00:00:00] = 2419200.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:27,493:Temporal inconsistency [t0=2008-03-01 00:00:00 - t1=2008-03-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:27,611:Temporal inconsistency [t0=2008-04-01 00:00:00 - t1=2008-04-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:27,701:Temporal inconsistency [t0=2008-05-01 00:00:00 - t1=2008-05-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:27,815:Temporal inconsistency [t0=2008-06-01 00:00:00 - t1=2008-06-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:27,952:Temporal inconsistency [t0=2008-07-01 00:00:00 - t1=2008-07-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:28,129:Temporal inconsistency [t0=2008-08-01 00:00:00 - t1=2008-08-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:28,230:Temporal inconsistency [t0=2008-09-01 00:00:00 - t1=2008-09-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:28,332:Temporal inconsistency [t0=2008-10-01 00:00:00 - t1=2008-10-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:28,442:Temporal inconsistency [t0=2008-11-01 00:00:00 - t1=2008-11-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:28,550:Temporal inconsistency [t0=2008-12-01 00:00:00 - t1=2008-12-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:28,646:Temporal inconsistency [t0=2009-01-01 00:00:00 - t1=2009-01-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:28,752:Temporal inconsistency [t0=2009-02-01 00:00:00 - t1=2009-02-28 00:00:00] = 2332800.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:28,845:Temporal inconsistency [t0=2009-03-01 00:00:00 - t1=2009-03-31 00:00:00] = 2592000.0 sec



test05-temporal_consistency:ERROR:2019-12-11 10:49:29,049:Temporal inconsistency [t0=2009-05-01 00:00:00 - t1=2009-05-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:29,150:Temporal inconsistency [t0=2009-06-01 00:00:00 - t1=2009-06-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:29,300:Temporal inconsistency [t0=2009-07-01 00:00:00 - t1=2009-07-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:29,409:Temporal inconsistency [t0=2009-08-01 00:00:00 - t1=2009-08-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:29,500:Temporal inconsistency [t0=2009-09-01 00:00:00 - t1=2009-09-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:29,604:Temporal inconsistency [t0=2009-10-01 00:00:00 - t1=2009-10-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:29,774:Temporal inconsistency [t0=2009-11-01 00:00:00 - t1=2009-11-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:29,895:Temporal inconsistency [t0=2009-12-01 00:00:00 - t1=2009-12-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:30,011:Temporal inconsistency [t0=2010-01-01 00:00:00 - t1=2010-01-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:30,174:Temporal inconsistency [t0=2010-02-01 00:00:00 - t1=2010-02-28 00:00:00] = 2332800.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:30,273:Temporal inconsistency [t0=2010-03-01 00:00:00 - t1=2010-03-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:30,371:Temporal inconsistency [t0=2010-04-01 00:00:00 - t1=2010-04-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:30,467:Temporal inconsistency [t0=2010-05-01 00:00:00 - t1=2010-05-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:30,563:Temporal inconsistency [t0=2010-06-01 00:00:00 - t1=2010-06-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:30,658:Temporal inconsistency [t0=2010-07-01 00:00:00 - t1=2010-07-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:30,763:Temporal inconsistency [t0=2010-08-01 00:00:00 - t1=2010-08-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:30,867:Temporal inconsistency [t0=2010-09-01 00:00:00 - t1=2010-09-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:30,971:Temporal inconsistency [t0=2010-10-01 00:00:00 - t1=2010-10-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:31,077:Temporal inconsistency [t0=2010-11-01 00:00:00 - t1=2010-11-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:31,175:Temporal inconsistency [t0=2010-12-01 00:00:00 - t1=2010-12-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:31,281:Temporal inconsistency [t0=2011-01-01 00:00:00 - t1=2011-01-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:31,395:Temporal inconsistency [t0=2011-02-01 00:00:00 - t1=2011-02-28 00:00:00] = 2332800.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:31,502:Temporal inconsistency [t0=2011-03-01 00:00:00 - t1=2011-03-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:31,601:Temporal inconsistency [t0=2011-04-01 00:00:00 - t1=2011-04-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:31,699:Temporal inconsistency [t0=2011-05-01 00:00:00 - t1=2011-05-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:31,796:Temporal inconsistency [t0=2011-06-01 00:00:00 - t1=2011-06-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:31,919:Temporal inconsistency [t0=2011-07-01 00:00:00 - t1=2011-07-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:32,032:Temporal inconsistency [t0=2011-08-01 00:00:00 - t1=2011-08-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:32,170:Temporal inconsistency [t0=2011-09-01 00:00:00 - t1=2011-09-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:32,278:Temporal inconsistency [t0=2011-10-01 00:00:00 - t1=2011-10-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:32,384:Temporal inconsistency [t0=2011-11-01 00:00:00 - t1=2011-11-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:32,490:Temporal inconsistency [t0=2011-12-01 00:00:00 - t1=2011-12-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:32,597:Temporal inconsistency [t0=2012-01-01 00:00:00 - t1=2012-01-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:32,708:Temporal inconsistency [t0=2012-02-01 00:00:00 - t1=2012-02-29 00:00:00] = 2419200.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:32,806:Temporal inconsistency [t0=2012-03-01 00:00:00 - t1=2012-03-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:32,906:Temporal inconsistency [t0=2012-04-01 00:00:00 - t1=2012-04-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:33,033:Temporal inconsistency [t0=2012-05-01 00:00:00 - t1=2012-05-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:33,137:Temporal inconsistency [t0=2012-06-01 00:00:00 - t1=2012-06-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:33,252:Temporal inconsistency [t0=2012-07-01 00:00:00 - t1=2012-07-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:33,354:Temporal inconsistency [t0=2012-08-01 00:00:00 - t1=2012-08-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:33,530:Temporal inconsistency [t0=2012-09-01 00:00:00 - t1=2012-09-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:33,662:Temporal inconsistency [t0=2012-10-01 00:00:00 - t1=2012-10-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:33,771:Temporal inconsistency [t0=2012-11-01 00:00:00 - t1=2012-11-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:33,877:Temporal inconsistency [t0=2012-12-01 00:00:00 - t1=2012-12-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:33,969:Temporal inconsistency [t0=2013-01-01 00:00:00 - t1=2013-01-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:34,078:Temporal inconsistency [t0=2013-02-01 00:00:00 - t1=2013-02-28 00:00:00] = 2332800.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:34,205:Temporal inconsistency [t0=2013-03-01 00:00:00 - t1=2013-03-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:34,312:Temporal inconsistency [t0=2013-04-01 00:00:00 - t1=2013-04-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:34,411:Temporal inconsistency [t0=2013-05-01 00:00:00 - t1=2013-05-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:34,511:Temporal inconsistency [t0=2013-06-01 00:00:00 - t1=2013-06-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:34,614:Temporal inconsistency [t0=2013-07-01 00:00:00 - t1=2013-07-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:34,715:Temporal inconsistency [t0=2013-08-01 00:00:00 - t1=2013-08-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:34,805:Temporal inconsistency [t0=2013-09-01 00:00:00 - t1=2013-09-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:34,919:Temporal inconsistency [t0=2013-10-01 00:00:00 - t1=2013-10-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:35,032:Temporal inconsistency [t0=2013-11-01 00:00:00 - t1=2013-11-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:35,170:Temporal inconsistency [t0=2013-12-01 00:00:00 - t1=2013-12-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:35,267:Temporal inconsistency [t0=2014-01-01 00:00:00 - t1=2014-01-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:35,364:Temporal inconsistency [t0=2014-02-01 00:00:00 - t1=2014-02-28 00:00:00] = 2332800.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:35,456:Temporal inconsistency [t0=2014-03-01 00:00:00 - t1=2014-03-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:35,557:Temporal inconsistency [t0=2014-04-01 00:00:00 - t1=2014-04-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:35,690:Temporal inconsistency [t0=2014-05-01 00:00:00 - t1=2014-05-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:35,808:Temporal inconsistency [t0=2014-06-01 00:00:00 - t1=2014-06-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:35,909:Temporal inconsistency [t0=2014-07-01 00:00:00 - t1=2014-07-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:36,022:Temporal inconsistency [t0=2014-08-01 00:00:00 - t1=2014-08-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:36,118:Temporal inconsistency [t0=2014-09-01 00:00:00 - t1=2014-09-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:36,211:Temporal inconsistency [t0=2014-10-01 00:00:00 - t1=2014-10-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:36,429:Temporal inconsistency [t0=2014-11-01 00:00:00 - t1=2014-11-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:36,594:Temporal inconsistency [t0=2014-12-01 00:00:00 - t1=2014-12-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:36,692:Temporal inconsistency [t0=2015-01-01 00:00:00 - t1=2015-01-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:36,788:Temporal inconsistency [t0=2015-02-01 00:00:00 - t1=2015-02-28 00:00:00] = 2332800.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:36,918:Temporal inconsistency [t0=2015-03-01 00:00:00 - t1=2015-03-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:37,022:Temporal inconsistency [t0=2015-04-01 00:00:00 - t1=2015-04-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:37,227:Temporal inconsistency [t0=2015-05-01 00:00:00 - t1=2015-05-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:37,347:Temporal inconsistency [t0=2015-06-01 00:00:00 - t1=2015-06-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:37,452:Temporal inconsistency [t0=2015-07-01 00:00:00 - t1=2015-07-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:37,558:Temporal inconsistency [t0=2015-08-01 00:00:00 - t1=2015-08-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:37,660:Temporal inconsistency [t0=2015-09-01 00:00:00 - t1=2015-09-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:37,764:Temporal inconsistency [t0=2015-10-01 00:00:00 - t1=2015-10-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:37,896:Temporal inconsistency [t0=2015-11-01 00:00:00 - t1=2015-11-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:38,031:Temporal inconsistency [t0=2015-12-01 00:00:00 - t1=2015-12-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:38,136:Temporal inconsistency [t0=2016-01-01 00:00:00 - t1=2016-01-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:38,281:Temporal inconsistency [t0=2016-02-01 00:00:00 - t1=2016-02-29 00:00:00] = 2419200.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:38,386:Temporal inconsistency [t0=2016-03-01 00:00:00 - t1=2016-03-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:38,495:Temporal inconsistency [t0=2016-04-01 00:00:00 - t1=2016-04-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:38,605:Temporal inconsistency [t0=2016-05-01 00:00:00 - t1=2016-05-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:38,760:Temporal inconsistency [t0=2016-06-01 00:00:00 - t1=2016-06-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:38,882:Temporal inconsistency [t0=2016-07-01 00:00:00 - t1=2016-07-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:38,986:Temporal inconsistency [t0=2016-08-01 00:00:00 - t1=2016-08-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:39,092:Temporal inconsistency [t0=2016-09-01 00:00:00 - t1=2016-09-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:39,203:Temporal inconsistency [t0=2016-10-01 00:00:00 - t1=2016-10-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:39,301:Temporal inconsistency [t0=2016-11-01 00:00:00 - t1=2016-11-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:39,402:Temporal inconsistency [t0=2016-12-01 00:00:00 - t1=2016-12-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:39,501:Temporal inconsistency [t0=2017-01-01 00:00:00 - t1=2017-01-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:39,631:Temporal inconsistency [t0=2017-02-01 00:00:00 - t1=2017-02-28 00:00:00] = 2332800.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:39,736:Temporal inconsistency [t0=2017-03-01 00:00:00 - t1=2017-03-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:39,847:Temporal inconsistency [t0=2017-04-01 00:00:00 - t1=2017-04-30 00:00:00] = 2505600.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:39,962:Temporal inconsistency [t0=2017-05-01 00:00:00 - t1=2017-05-31 00:00:00] = 2592000.0 sec
test05-temporal_consistency:ERROR:2019-12-11 10:49:39,962:Temporal inconsistency found. Check log messages in the following pages


